RS [[Ha—X]

2023/8/11

MRUT7 (F7RY7 LREL) ARy FRANYTR2yF AR

FELA—J:OUT 3.4.5.6.89

IN 10.11.14.16.17.18

2023/8/11

g [#ra—X]

RV (F7RYT7 EREL) By FRANY TRy F AR

FELA—J :OUT 2.3.5.6.7.9

IN 10.12.13.14.16.18

IEfL K % OUT | IN|GrOSs|HDCP| NET [:{ivd K % OUT | IN|Gross | HDCP NET

R kiR K& 411 43 84| 14.4| 69.6 B XH FE 39] 40 79 10.8 68.2
2131 i sk 37| 39 76 6.0l 70.0 2{31 HH TR 45| 46 91| 22.8 68.2
313t BTH Ef 38| 36 74 3.6] 704 3{i Mz FE 371 38 75 6.0 69.0
Afst MF B 40| 46 86| 15.6| 70.4 A3t FIER F1E 45| 42 87| 18.0 69.0
51t KE 8= 42| 42 84| 13.2| 70.8 5{3 RE KT 44 48 92| 228 69.2
613 NnE &2 48| 47 95| 24.0f 71.0 613 —F BER 51| 45 96| 26.4 69.6
7L O 2E 40l 36 76 48 71.2 713 B BX 39 38 77 7.2 69.8
813t =% BE 44 43 87| 15.6| 71.4 813 A = 40| 42 82| 12.0 70.0
ofit = FE— 46| 39 85| 13.2| 718 ofs " BE 44| 43 87| 16.8 70.2
101i 2iE FE 401 45 85| 13.2| 718 1013t =i 1ER 421 44 86| 15.6 70.4
114 2N ER 38 39 77 48| 722 11131 8 411 38 79 8.4 70.6
12431 B BX 37| 40 77 48| 722 12431 ER RE® 38] 41 79 8.4 70.6
1343 Bl Fnea 45| 44 89| 16.8] 72.2 1343 5K =8 43 42 85| 14.4 70.6
144 He 39| 43 82 9.6] 72.4 144 FE W 48| 43 91| 20.4 70.6
15431 R T 371 38 75 2.4 726 1543 KEF R— 441 40 84| 13.2 70.8
16431 Rk F— 46| 47 93| 20.4| 72.6 16431 ik 5% 42| 41 83| 12.0 71.0
174 A A 42| 51 93| 20.4| 72.6 174 Wil 46| 43 89| 18.0 71.0
18131 ik BE 40| 40 80 7.2 728 183 M -% 42| 47 89| 18.0 71.0
19131 "Ex FE 40| 40 80 7.2 728 19 R T 42| 40 82| 10.8 71.2
20131 o 2 48] 50 98| 25.2| 72.8 2013z Rk BT 46| 42 88| 16.8 71.2
21131 EH —I= 53] 51 104 312 728 21131 HiE f&— 48| 46 94| 22.8 71.2
22131 Ve Y 43| 42 85| 12.0] 73.0 2211 A 1= 431 38 81 9.6 71.4
23131 77 E 1 41| 44 85| 12.0] 73.0 23131 ER =fE 42 39 81 9.6 71.4
24431 5% IBE 44| 47 91| 18.0] 73.0 24431 =EH B 37| 44 81 9.6 71.4
25431 L BA 411 37 78 48| 73.2 25431 & 45| 42 87| 15.6 71.4
26131 BE E— 40| 38 78 48| 73.2 2601 | Ki& =MF 43| 43 86| 14.4 71.6
2761 | ARE HE 39] 39 78 48| 73.2 27131 FE = 50| 42 92| 20.4 71.6
28131 i 15 371 41 78 48| 73.2 2813t =l &S 49| 43 92| 20.4 71.6
29131 fEH EX 411 43 84| 10.8] 73.2 2913t ERIE  {EEH 38] 41 79 7.2 71.8
301z F3i N1 43| 40 83 9.6] 73.4 3013z XiE HE 49| 42 91| 19.2 71.8
31 2 XKE 41| 42 83 9.6] 73.4 311 Hith FE 48| 43 91| 19.2 71.8
32 N ER 38| 45 83 9.6] 73.4 321t HE & 40| 38 78 6.0 72.0
33fiL &F BZ 42| 40 82 8.4 173.6 33fiL 2 & 40| 44 84|  12.0 72.0
344 =F &X 42| 40 82 8.4 73.6 344iL ek tH— 401 37 77 4.8 72.2
35fiL =l BT 44 44 83| 14.4| 73.6 3513t gx hHhig 41 42 83| 10.8 72.2
36fiL FH =EB 44| 44 88| 14.4| 73.6 3613z gk E=— 46| 43 89| 16.8 72.2
371 T EA 37 44 81 7.2 73.8 371 miF E= 43| 46 89 16.8 72.2
38fiL AHE E& 43| 44 87| 13.2| 73.8 38fiL mA B 371 39 76 3.6 72.4
39fi; [IE i 43| 44 87| 13.2| 738 39fiL EH L= 39] 43 82 9.6 72.4
401z R B=E 43| 43 86| 12.0| 74.0 401z R BA 39] 43 82 9.6 72.4
4111 XA B— 48| 44 92| 18.0| 74.0 4141 =5 = 46| 42 88| 15.6 72.4
421 WA IESE 43| 49 92| 18.0| 74.0 421 HFAR FBE 41 47 88| 15.6 72.4
431 | k4K EHEEX 40| 52 92| 18.0| 74.0 43 EN% Rt 50| 44 94|  21.6 72.4
A443T X it 40| 39 79 4.8 74.2 A443T HER  NE— 47| 53 100 27.6 72.4
45431 XE 42| 43 85| 10.8] 74.2 451 PN 44 43 87| 14.4 72.6
461 E &t 47| 44 91| 16.8| 74.2 4613t R B’ 46| 46 92| 19.2 72.8
AT{iL O & 41| 50 91| 16.8| 74.2 AT{iL Bl & 43 42 85| 12.0 73.0
4811 Xxm Bt 44| 53 97| 22.8| 74.2 A8 | 1EEE EFR 43 42 85| 12.0 73.0
49131 WwE HMz 43 41 84 9.6] 74.4 49131 FME BE 47] 44 91 18.0 73.0
5013z AH HBA 411 43 84 9.6] 744 1]iva BEH  FHiE 471 50 97|  24.0 73.0
511iL BMHE EW 50| 58 108 33.6| 74.4 511 EK HE 43 41 84| 10.8 73.2
5213t HE EE 46| 43 89| 14.4| 74.6 52131 INE B 40| 44 84| 10.8 73.2
53fiL Hik =X 50 51 101 26.4| 74.6 53fiL TE —% 50| 46 96| 22.8 73.2




IEfL K % OUT | IN|GrOSs|HDCP | NET [:{ivd K % OUT | IN|GrRoss | HDCP NET

54431 £H IEM 411 41 82 72| 748 LY Eiva Wi 4 46| 49 95| 21.6 73.4
55fiL £E & 42| 46 88| 13.2| 748 554iL Z2h EiF 371 39 76 2.4 73.6
b6fii | /MEE (&R 431 51 94|  19.2| 74.8 561iL R E— 431 39 82 8.4 73.6
571 thim e 41 39 80 48 75.2 571 Rk EE 43| 45 88| 14.4 73.6
581iL F M 39| 41 80 48 75.2 581iL A =E 41 47 88| 14.4 73.6
59131 TE OBk 46| 40 86| 10.8] 75.2 5913t X &= 47| 47 94|  20.4 73.6
60f3L e BE 40| 46 86| 10.8] 75.2 601t A EH 43| 44 87| 13.2 73.8
61 R HE2 471 45 92| 16.8] 75.2 611 A (ShE 391 48 87| 13.2 73.8
62131 XE HE 48| 50 98| 22.8 75.2 621z K& ZEB 51| 48 99| 25.2 73.8
63 | MBI == 48] 50 98| 22.8| 75.2 63fiL XxE EE 421 38 80 6.0 74.0
644 Rl FX 48 50 98| 22.8 75.2 6441 B fp— 40( 40 80 6.0 74.0
6511 BE B3 45| 53 98| 22.8| 75.2 651z s i 48| 44 92| 18.0 74.0
6613z FHE F— 44 47 91| 15.6] 75.4 661z &8 &9 44| 48 92| 18.0 74.0
6 7L iR FFif 51| 46 97| 21.6| 75.4 671 Bk #&F 42| 43 85| 10.8 74.2
68fi | k4K L 51| 46 97| 21.6| 75.4 6813z = 2R 411 44 85| 10.8 74.2
69131 Nt 54| 49 103 27.6| 75.4 6913z WR B&F 411 44 85| 10.8 74.2
701 Bk BE 38| 46 84 8.4 75.6 70% AE IR 41 43 84 9.6 74.4
71 #BI - B 48| 42 90| 14.4| 75.6 yakiva B K 46| 44 90| 15.6 74.4
260 | EHEMN &B 51| 51 102| 26.4| 75.6 7211 2H E 45| 45 90| 15.6 74.4
731 A pERY 44| 39 83 7.2 75.8 731 B AR 42| 48 90| 15.6 74.4
7441 |l B 421 41 83 7.2 75.8 7441 FE MR 51| 45 96| 21.6 74.4
75 Hik hE 46| 43 89| 13.2| 75.8 751 =¥ BT 59| 49 108 33.6 74.4
7613 ER &= 49| 46 95| 19.2| 75.8 7613z wE FE 53| 48 101 26.4 74.6
7741 Bt 1EEA 48| 47 95| 19.2| 75.8 1741 Bl T 52| 49 101 26.4 74.6
7813t 1T S 46| 49 95| 19.2| 75.8 7813z A & 411 41 82 7.2 74.8
7901 £k XE 46| 49 95| 19.2 75.8 7901 RN &= 39| 43 82 7.2 74.8
801z i % 44 44 88 12.0{ 76.0 80fi | At+E FTIBTF 46| 42 88 13.2 74.8
811 =l 1B 41| 47 88| 12.0| 76.0 811z M RE 46| 48 94|  19.2 74.8
821t #R & 48| 46 94|  18.0] 76.0 82fir =)l M= 431 38 81 6.0 75.0
83fir M ER 42 52 94|  18.0| 76.0 83fiL Sl BA) 44 43 87| 12.0 75.0
84431 ns = 53| 47 100 24.0 76.0 84431 ER =R 42| 45 87| 12.0 75.0
85fiL =itz 45| 42 87| 10.8] 76.2 85fiL I E 52| 41 93| 18.0 75.0
861iL Il &k 45| 48 93| 16.8| 76.2 86131 FH HE 47 46 93| 18.0 75.0
871 A+ EHZ 44 49 93| 16.8] 76.2 871t L =3 55| 50 105  30.0 75.0
88fir =EF =M 51| 48 99| 22.8| 76.2 8813t AE B2 52| 53 105  30.0 75.0
89fir IRA BAX 491 50 99| 22.8| 76.2 89fiL A BE 42| 44 86| 10.8 75.2
9013z £ F—BB 47| 52 99| 22.8| 76.2 9013z ER EA 42| 44 86| 10.8 75.2
9113 WA = 54| 57 111 34.8| 76.2 9113t kA Hif 50 42 92| 16.8 75.2
9213 =R %A 42| 38 80 3.6/ 76.4 9213t Al Etd 47| 45 92| 16.8 75.2
93fif Ay —h 45| 47 92| 15.6| 76.4 9313t BH = 44 48 92| 16.8 75.2
94431 A = 411 51 92| 15.6| 76.4 94431 =i T 53| 45 98| 22.8 75.2
95131 =H &t 49 49 98| 21.6| 76.4 95fiL NITI g 471 51 98| 22.8 75.2
96131 =R FF 47 51 98| 21.6| 76.4 9613t n# Ex 43| 42 85 9.6 75.4
9713t Wl AEF 50| 54 104 27.6| 76.4 974iL KE R 45| 46 91| 15.6 75.4
98{if BH  Ei 45 46 91 14.4 76.6 981i SEH  EH 43 48 91 15.6 75.4
99131 o g 49 48 97 20.4 76.6 99131 XE EZ 50 a7 97 21.6 75.4
1006 | RE& ER 52| 51 103| 26.4| 76.6 1001z gt Ex& 48] 49 97| 21.6 75.4
1011z Bk B2 48| 55 103| 26.4| 76.6 10143 His & 42| 42 84 8.4 75.6
102{i Xk MR 40| 44 84 7.2| 76.8 10213 A = 42| 48 9| 14.4 75.6
103fi HH 2Aff 44| 46 90| 13.2| 76.8 103fi HiE =#& 49| 47 96| 20.4 75.6
1044i B ZEEA 42| 48 90| 13.2| 76.8 104i Rk = 47 49 96| 20.4 75.6
1051 | EE® 0% 48| 48 96| 19.2| 76.8 1051i # BF 471 49 96| 20.4 75.6
106{i xR % 44| 39 83 6.0 77.0 1061 Him S 44 52 96| 20.4 75.6
1074i K #— 401 43 83 6.0l 77.0 1074 1T SV 47 55 102 26.4 75.6
1081 g =% 42| 47 89| 12.0| 77.0 1081 SH BEH 45| 44 89| 13.2 75.8
1091{i s §= 48| 47 95/ 18.0 77.0 1090z | EE FBFET 42| 47 89| 13.2 75.8
1101 BN &— 44| 51 95| 18.0| 77.0 1101 =FE BE 471 48 95| 19.2 75.8
1114 = 52| 49 101 24.0 77.0 11143 B E— 471 48 95| 19.2 75.8
1124 AR BIX 39| 43 82 48| 71.2 112 EH ER 50 51 101 25.2 75.8
11343t KB X 47| 47 94|  16.8| 77.2 113 | R&)Il 2 371 45 82 6.0 76.0




NEfsz K % OUT | IN|GrRoss|HDCP | NET [:§iva K % OUT | IN|GrOSs | HDCP NET
11461 | tE4K —if 50| 50 100 228 771.2 1144 HH 18 42| 46 88| 12.0 76.0
1154 =t RH 38| 48 86 8.4 77.6 1154 SH WF 48 46 94|  18.0 76.0
1166 | K& ®MEF 421 50 92 14.4 776 1164 tE  fiE 48 45 93] 16.8 76.2
1174 ] €3 45 53 98| 20.4| 77.6 117 XEH =F— 49 43 92 15.6 76.4
1181 | NIAR & 54| 56 110 32.4| 77.6 1181i AH HEHX 47 45 92 15.6 76.4
11961 | =iF LbEE 421 43 85 7.2 718 1194i =H EEZ 46| 46 92 15.6 76.4
1201z Bx & 44| 47 91 13.2 77.8 12013z /1T 3 46 39 85 8.4 76.6
12111 ) & 40 51 91 13.2| 77.8 1211z | EH HEE 41| 44 85 8.4 76.6
12211 Rk BA 49 54 103 25.2| 77.8 1224 K 27 56| 53 109 32.4 76.6
123131 hE B 48 48 96| 18.0f 78.0 123(i ik F& 44 46 90| 13.2 76.8
124431 FN EE 48 47 95 16.8| 78.2 12445 BE OEE 53] 49 102|  25.2 76.8
12501 | #EE (S 491 51 100| 21.6] 78.4 1254 BiE T 44 44 88| 10.8 77.2
12613z FHE R¥F 54| 52 106] 27.6] 78.4 126 | BEBEH BA 491 51 100 22.8 77.2
1274 Ak & 53| 53 106] 27.6] 78.4 1274 BH OB 46| 54 100 22.8 77.2
128131 xE FEF 63| 55 118| 39.6/ 78.4 1281i BB BF 46 53 99| 21.6 77.4
129431 KE $— 48| 45 93 14.4| 78.6 1291i L#E BT 431 49 92 14.4 77.6
13013z FIER =tk 52| 47 99| 20.4| 78.6 13013z e B— 46| 52 98|  20.4 77.6
13111 bl 1 5 44| 48 92 13.2| 78.8 1314 Atk EL 45 46 91 13.2 77.8
1321 bl 50| 48 98| 19.2 78.8 1321i =H fEe 49 48 97| 19.2 77.8
133fiL =t #B— 50| 48 98| 19.2 78.8 1330 | FE FEF 52| 51 103| 25.2 77.8
134431 Rl F= 40 45 85 6.0 79.0 13441 KB St 58| 57 115  37.2 77.8
13513t ANl 3 48 49 97 18.0| 79.0 13513z T &HEY 52| 50 102  24.0 78.0
136fiz | tWE FF*= 52| 57 109 30.0 79.0 1361i FIER  #AiE 49| 64 113| 348 78.2
1374t KiE #¥F 44| 46 90| 10.8[ 79.2 1374 FEF FE 50 49 99| 20.4 78.6
13813t A EEX 43| 47 90| 10.8] 79.2 1381 Bk BF 53] 52 105 26.4 78.6
139fi; BR & 48| 48 96| 16.8] 79.2 139fi FH EE 47 45 92 13.2 78.8
1401z AH #2F 53] 54 107| 27.6] 79.4 1401z AR thA 46 46 92 13.2 78.8
14111 R X 50| 50 100 20.4] 79.6 1414 Ik —1& 44| 54 98| 19.2 78.8
14211 BE e 51| 48 99 19.2| 79.8 1424 xR & 54 50 104  25.2 78.8
14361 | #&AK foAlE 50| 51 101 20.4| 80.6 143(i =1 I ok 53 491 51 100 20.4 79.6
14441 Hil FH=E 45 49 94 13.2| 80.8 1444 E 587 45| 48 93| 13.2 79.8
145431 ik Ry 50| 50 100 19.2| 80.8 1454 fgiE Bg 50| 55 105  25.2 79.8
1464 TE E=E 46| 53 99 18.0 81.0 1464 FH Bk 471 49 96| 15.6 80.4
14741 M MEA 45| 46 91 9.6] 81.4 1474 ER ®RZ- 50| 51 101 20.4 80.6
148131 wRE 2= 49| 53 102| 20.4] 81.6 148(i 2B L¥ 50| 50 100] 19.2 80.8
14911 =# W 50| 62 112| 30.0 82.0 1491 R B 49 57 106| 25.2 80.8
15013z [iE 46| 53 99 16.8| 82.2 15013z XE MF 46 56 102  20.4 81.6
151131 5 IEE 51| 53 104 216 824 1514 hE AT 53| 54 107| 25.2 81.8
152131 =& 8ia 48 57 105 21.6] 83.4 1521i it BTF 511 49 100 18.0 82.0
153fiL Hitt wuE 56| 54 110 26.4| 83.6 153fi; B FTF 63| 59 122  39.6 82.4
1541 | KFE #— 471 53 100 16.8 83.2
1554i it #— 50| 62 112 28.8 83.2
1564 Ak JefE 45| 59 104  18.0 86.0
1574 = EE 60| 55 115 27.6 87.4
158{iL 58 BT 63| 64 127 39.6 87.4




